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QUESTION: 80 

Which statement is true about flow control? 

 

 

A. A flow action can be executed from an escalation point. 

B. A flow action cannot be selected unless the work order is under flow control. 

C. A task cannot be under flow control unless the work order is under flow control. 

D. A flow action cannot be selected for a task unless the work order is under flow 

control. 

 

 

Answer: B 

 

Reference: 

http://www-01.ibm.com/support/docview.wss?uid=swg21327119 

 

 

QUESTION: 81 

Which statement is true when working with condition codes? 

 

 

A. Only one condition code can be used per item set. 

B. Condition codes are not considered when an item is issued. 

C. A condition rate of 100% must exist for at least one condition code. 

D. Condition codes can only be associated with an item in the Item Master 

application. 

 

 

Answer: C 

 

 

QUESTION: 82 

Which statement about locations is true? 

 

 

A. A location does not have a custodian. 

B. A location can have multiple custodians. 

C. A location must have a single custodian. 

D. A location must have a location manager. 

 

 

Answer: B 

 

 

QUESTION: 83 

What must be true of an asset for it to be identified on a service request? 

 

 

A. The asset must be flagged as public. 

http://www-01.ibm.com/support/docview.wss?uid=swg21327119


B. The asset must have a user or custodian specified.

C. The asset must be either in status OPERATING or NOT READY.

D. The asset must be in the same site as the default insert site of the logged in user.

Answer: C 

QUESTION: 84 

What two fields values must be added to create an Inventory Usage record? 

A. Site

B. Usage

C. Location

D. Inventory Owner

E. From Storeroom

Answer: B, E 

QUESTION: 85 

Job plans can be applied to which three items? 

A. Routes

B. Safety Plans

C. Work Orders

D. Asset Records

E. Purchase Orders

F. Preventive Maintenance Records

Answer: A, C, F 

QUESTION: 86 

Which combination of inventory costing is valid? 

A. last-in first-out (LIFO) and first-in last-out (FILO)

B. last-in first-out (LIFO) and first-in first-out (FIFO)

C. first-in last-out (FILO) and last-in first-out (LIFO)

D. first-in last-out (FILO) and first-in first-out (FIFO)

Answer: B 



QUESTION: 87 

Which statement is true regarding ticket templates, job plans, and activities? 

A. Only job plans with a status of Active can be applied to ticket templates.

B. Activities specified on a service request using a job plan cannot be deleted.

C. A job plan can be applied by a ticket template or directly to the service request.

D. Activities specified on a job plan are viewable on the Plans tab of the Service

Request application.

Answer: A 

QUESTION: 88 

A maintenance planner wants to manually generate a preventive maintenance (PM) 

work order within 60 days of its due date to ensure tools and materials can be 

gathered on time. How can this be accomplished? 

A. Enter the value within the Generate Work Orders dialog window.

B. This is not possible because PM work orders cannot be generated until they are

due.

C. By changing the Frequency Units to days and then setting the frequency to the

number of days required.

D. By specifying the tools and materials required it will automatically detect that this

PM's work order requires early generation.

Answer: B 

QUESTION: 89 

Which statement is true about rotating items? 

A. Rotating items are consumable parts.

B. Rotating items cannot be returned for repair.

C. Rotating items can only be installed at a location.

D. Rotating items can have an inventory value and balance.

Answer: D 

QUESTION: 90 

Which statement is true regarding classification attributes? 



A. Parent and child classifications must have the same attributes.

B. The sequence of attributes can be different for each Use With object.

C. Attributes identified as mandatory are mandatory for each Use With object

D. If an attribute is identified as mandatory it cannot be deleted from a service

request.

Answer: D 

QUESTION: 91 

When adding a new attribute to a classification, which data type option is invalid? 

A. ALN

B. YORN

C. TABLE

D. NUMERIC

Answer: C 

QUESTION: 92 

A hard reservation is a request for materials that is defined by what? 

A. A low priority request

B. A request for assets for a specific job

C. The need for an item within a specific timeframe

D. Materials that have been moved to a staging area

Answer: C 
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